1：写作拿分基本点

  ① 卷面整洁，涂改清晰 

  ② 亮点要背，自写要对

  ③ 套路要有，废话不长

  ④ 熟悉框架，分类练习

  ⑤ 模仿为王，不能Y Y 
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大学生学习就业与生活类
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社会现象类
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行业发展类
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行业发展类
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2：

1. 描绘图表(description) ；

2. 解释原因（causes）= 图表数据产生或变化的

    原因是什么；

3. 发表评论(comments) = 这样的现象有什么好、

    有什么坏/我们应该怎么做等。

3：图表描绘

第一段： 描绘图表(description)

考研作文的=引入句型+简洁精炼的描述

（找到图表上重要的数字和变化趋势，将它们描述清楚，

次要的数字和细节可以不写）

1. 引入句。

写法1：Illustrated in the bar chart is the general trend in the number of /the proportion of +(图表描述的对象)【如：the number of mobile-phone subscriptions in both developing and developed countries （手机入网数量）、the urban population and rural population（城乡人口数量） 】

必备词汇：柱状图：bar chart，曲线图：line chart，

                 饼状图：pie chart，表格：table 

【翻译】图表清晰且完整地描绘了一个关于..数字/..比例的整体趋势。

写法1例：Explicitly and completely illustrated in the bar chart is the general trend in the proportions (market shares) of different car brands in domestic car market.

难点：趋势 in 数字 of 做…的人

the trend in the number of people < who do sth. >  

/ <doing sth. 主动> /<done … 被动> 

Illustrated in the bar chart is the trend in the proportions of students <taking part-time jobs in a certain university> from freshmen to seniors. 

Illustrated in the line chart is the general trend in the number of people visiting museums and in the number of museums<which are newly built> in China. 

写法2：Illustrated in the pie chart is a survey about (图表描述的对象)【如：job satisfaction in a certain company （某个公司的工作满意度）、the sources of income of both Chinese and American students(中美学生收入来源)】

【翻译】图表清晰且完整地描绘了一个关于…的调查。

写法2例：Explicitly and completely illustrated in the bar chart is a survey about the sources of income of both Chinese and American students.

难点：中文主题词不会 用句子解释

例：员工满意度关于 员工是否对工作满意的调查

a survey about whether employees in a certain company are satisfied with their jobs or not 

例：大学生旅游目的大学生为什么去旅游的调查

a survey about why students in a certain university go travelling 

例：大学生消费比例的调查 

a survey about how students in a certain college spend their money（spare time）  

更多参考：a survey about 

why sb. do sth. (目的 /原因 ) 

how sb. do sth. (方式/安排)

where sb. do sth. 

whether sb. do sth. (是否---度)

what sb. do --------------- what kind of job college students want to do / what kind of idols college student choose 

提醒：在引入句中基本不需要涉及到具体的数据和变化，写个笼统就够了。

2. 开始描述。

关注图中的两处地方：

数据是随着时间变化的（动态），还是固定的（静态）；

 图表是在描述某一个研究对象，还是对两到三个研究对象进行比较？ 

（1）有变化趋势的。 

As we can see from the graph, the number/proportion of A increased/decreased dramatically(程度高)/slightly（程度低） from 数字 in 时间 to 数字 in 时间， with the number（proportion） of B increasing/decreasing significantly (程度高)/moderately（程度低） from 数字 to 数字 during the same period.

【翻译】正如我们在图表中能看到的，A的数字/比例从..时间的..多少明显（轻微地）增长/减少到了..时间的..多少，同时B的数字/比例从…多少明显（轻微地）增长/减少到了多少。

例：As we can see from the graph, the proportion (market share) of cars of Chinese brands increased dramatically from 25% in 2008 to 35% in 2009, with the proportion of cars of Japanese brands decreasing significantly from 30% to 15% during the same period.
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Explicitly illustrated in the bar chart is the general trend in the proportions of different reasons for study according to age of student. As we can see from the graph, from the age of 26 to 49，the proportion of people who study for career decreases dramatically from 80% to less than 20%, with the proportion of people who study for interest increasing significantly from 10% to 70%.

（2）数据没有变化的。

xx% of the 什么人do sth，while the 什么人 who do sth. account for xx% . (务必注意动词单复数！！！)

翻译】百分之多少的人做什么事，同时做另一件事的人占了多少百分比。

例：50% of the employees under the age of 40 are not clear about whether they are satisfied with their jobs or not, while the employees between the age of 41 and 50 who are not content with their jobs account for 64%. 

3. 如果数据较多怎么办？

写法1：增加一句补充描述。

（1）有变化趋势的。 

When it comes to the number/proportion of C, we can find a substantial(程度高的) /gentle(程度低的)  rise(上升)/decline(下降) from 数字 to 数字. 

或者没什么变化就写：we can find it remained relatively stable. 
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Visibly illustrated in the line chart is the general trend in the
number of people who use electronic currency in China, Japan and
America. As we can see from the graph, the number of Chinese
people using electronic currency increased dramatically from about
0.08 billion in 2006 to 0.45 billion in 2016, while the number in
Japan increased moderately from 0.11 billion to 0.25 billion during
the same period. When it comes to the number of Americans, we can
find a gradual rise from 0.2 billion in 2006 to 0.35 billion in 2016.




【翻译】讲到C的数字(比例)， 我们可以发现一个明显/轻微的上升

          （下降）从数字..到数字.. 或 我们可以发现它保持相对稳定。

例：When it comes to the proportion of cars of American brands, we can find it remained relatively stable. 

Visibly illustrated in the line chart is the general trend in the number of people who use E-payment in China, Japan and America. As we can see from the graph, the number of Chinese people using E-payment increased dramatically from about 0.08 billion in 2006 to 0.45 billion in 2016, with the number in Japan increasing moderately from 0.11 billion to 0.25 billion during the same period. When it comes to the number of Americans, we can find a gradual rise from 0.2 billion in 2006 to 0.35 billion in 2016. 

（2）静态多数据

写法1：

When it comes to the proportion of the 什么人 who 做什么事， we can find the percentage is xx%. 

【翻译】当谈到做第三件事情的人的比例，我们可以看到这个百分比是xx% 。

例：When it comes to the proportion of the employees over the age of 50 who are satisfied with their jobs, we can find the percentage is 40%.

写法2：使用“集合”句式。

———重点，常用手段！！！

分别/各。A, B,C account for 10%, 20%, 30% respectively. 

【翻译】A,B,C各占了10%, 20%, 30%。

例：The percentage of students， who go to study abroad，hunt for jobs and take the National Entrance Test for M.A./M.S Candidates is 20%, 60% and 10% respectively. 

翻译】出国留学、求职、考研的学生的百分比分别是20%，60% 和10%。

例：A and B increased to 27.5% and 30% respectively. 

【翻译】A 和B的数量分别增长到了27.5% 和30%。 

（2）多组数据的省略式表述（即可以把第一个分句里相同的词在第2、3…分句里省略掉）。

例：Popular novels make up 17%, technical books 8% and【最后这个and不要漏掉】 poem collections only 5%. 

【翻译】流行小说占了17%， 技术用书8%， 诗集只有5%。 

例：A increased by【增长了，要做个“减法”】 1%, B 2% , C 3% and D 4%.

【翻译】A 增长了1%， B增长了2%， C增长了3%， D增长了4%。
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Explicitly described in the pie chart above are the proportions of different
career choices among university students. We can see that 35% of students
expect to work in foreign-funded companies, 22% state-owned enterprises and
9% government institutions, while students who want to start their own business

and work in private sectors account for 13% and 5% respectively.





Explicitly described in the pie chart is a survey about college students ’dream jobs. We can see that 35% of students expect to work in foreign-funded companies, 22% state-owned enterprises and 9% government institutions, while students who want to start their own business and work in private sectors account for 13% and 5% respectively. 
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例：Explicitly and completely illustrated in the bar chart is a survey about young people’s choices of idols. 21.2% of the young people take film stars as their idols and 13.4% sports stars. However, the young people who take artists and writers as idols account for 8.1% and 8.2% respectively. In addition, 14% take businessmen as their idols, 9.4% politicians,  ...………….and 2% themselves.   

4. 如果数据很单一怎么办？

如2013年写作真题：某高校学生兼职情况，从大一到大四数据有明显的上升趋势。这时可以结合数据变化特征进行“拆分”描写。我们可以看到大一到大三增长比较平稳，而到了大四上升极为明显，那么就可以这样写：

例：As we can see from the graph, the proportion of students taking part-time jobs increases(d) moderately from 65% among freshmen to 75% among juniors, then increasing significantly to 85% among seniors.  

首段要点总结： 

练习
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Illustrated in the bar chart is the general trend in the consumption in China’s
Iuxury-goods market. As we can see from the graph, the money spent on luxury-
goods increased from less than 40 billion in 2006 to about 80 billion in 2011, then
surging to 140 billion in 2015.





练习讲解

Explicitly illustrated in the bar chart is the general trend in the sales revenue of luxury goods in China. As we can see from the graph, the money spent on luxury-goods increased from less than 40 billion in 2006 to about 80 billion in 2011, then surging to 140billion in 2015.

练习
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练习讲解

Explicitly illustrated in the bar chart is the general trend in the sales revenue of luxury goods in China. As we can see from the graph, the money spent on luxury-goods increased from less than 40 billion in 2006 to about 80 billion in 2011, then surging to 140billion in 2015.

练习讲解：

Explicitly illustrated in the bar chart above is a survey about where northeast graduates expected to work and where they actually worked. As we can see from the graph, 35.9% of the graduates expected to work in Beijing, Shanghai and Guangzhou, 61.3% provincial capitals and 2.9% other cities while 21.4% of them actually worked in Beijing, Shanghai and Guangzhou, 67.9% in provincial capitals and 10.7% other cities. 

4：中间段论述

第二段：解释原因（causes）= 图表数据产生或变化的原因是什么；

1. 如果图表反应的现象比较单一，可以先把这个现象用一句话进行描述。如2013年的写作真题，图表现象反映的就是大学生做兼职的数量较多。

例：In this day and age, it is no surprise to find that taking part-time jobs becomes a popular trend among college students. 

2. 如果图表反应的现象比较多元，那么，可以直接进入对各个现象的原因分析当中。如2011年的写作真题：
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3. 写原因总起句，为下面原因阐述做铺垫。

常见总起句有：

Reasons for the phenomenon(复数是those phenomena) presented in the picture can be listed as follows. 

【翻译】出现图画中反映的现象的原因可以罗列如下。

Several reasons, both social and individual（这个插入语可以根据情况选择加或者不加）, could contribute to/ account for the phenomenon（those phenomena 复数）.

【翻译】几个原因，既有社会的也有个人的，导致了这种现象。

注意：这个句子就是个纯套路句，而纯套路句的基本原则就是：越简洁越好。

4. 具体原因阐述

原因描述的三类思路：

（1）套路化原因表达 + 套路化原因句型（简称 “全套式”）。

如：中国车销量为什么增加了呢？

The great leap forward in the quality and function of cars of Chinese brands, I deem, is a factor that must be pointed out. 【翻译】我认为中国品牌的汽车的功能和质量的飞跃是一个必须指出的因素。

（2）套路化原因表达 + 结合数据的具体描述（简称“半套式”）。

如：为什么做兼职的大学生数量在增加？

Increasingly fierce competition in the job market and growing pressure make it necessary for college students to accumulate work experience through doing part-time jobs. 

【翻译】就业市场激烈的竞争和越来越大的压力使得大学生有必要通过做兼职工作来积累工作经验。

（3）完全结合具体话题进行论述（简称“自写式”）。

如：为什么美国车的市场份额不增也不减呢？

Cars of American brands are usually fuel-consuming and only target a certain group of people, so their market share keeps stable.

【翻译】美国车通常比较耗油，针对的特定的用户群，所以它们的市场份额保持稳定（比较小）。

5：经典原因结构。（ 1 ）“全套式”

 1：名词/名词词组 is a factor/ are factors that must be pointed out. 

2：We can ascribe this phenomenon to 名词/名词词组.

3：This is mainly because +句子/ This is mainly because of +名词/名词词组. 

4：名词/名词词组 should be responsible for such a phenomenon.

5：名词/名词词组 is a major contributor/are major contributors.

（2）“半套式”。

1：名词/名词词组 is the reason why sb. do sth. 

例：Fierce competition in the job market is the reason why college students in growing numbers choose to have a part-time job to accumulate more work experience. 

【翻译】就业市场激烈的竞争是越来越多的大学生选择做兼职工作来积累工作经验的原因。

2：Due to 名词/名词词组原因，自写（写一个句子）

例：Due to fierce competition in the job market, college students in growing numbers choose to have a part-time job to accumulate more work experience. 

【翻译】由于就业市场激烈的竞争， 越来越多的大学生选择做兼职工作来积累更多的工作经验。

3：名词/名词词组(原因) make(s) sb. do sth. （使得某人做某事）/enable(s) sb. to do sth. (使得某人能够做某事)/make(s) it 形容词 for sb. to do sth. （使得某人做事怎么样） 

例：Fierce competition in the job market makes it necessary for college students to have a part-time job to accumulate more work experience. 

【翻译】就业市场激烈的竞争使得大学生有必要通过做兼职工作来积累更多的工作经验。

4：We can ascribe this phenomenon to 名词/名词词组, which … 

例：We can ascribe this phenomenon to fierce competition in the job market, which makes college students in growing numbers choose to have a part-time job to accumulate more work experience.  

【翻译】我们可以把这个现象归因于就业市场激烈的竞争，它使得越来越多的大学生选择做兼职工作来积累更多的工作经验。 

5：名词/名词词组 should be responsible for such a phenomenon, by which I mean …

例：Fierce competition in the job market should be responsible for such a phenomenon, by which I mean college students in growing numbers want to accumulate more work experience through doing part-time jobs, so that they may survive in this competitive society after graduation. 

中间段完整练习：
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6：经典原因套路----名词（名词词组）

社会类：

1） 生活水平提高/购买力增强

生活水平提高 the improvement in people’s standard of living 

购买力增强 growing purchasing power 

例：We can largely ascribe this phenomenon to the improvement in people’s living standards and growing purchasing power . 

例：Thanks to the improvement in people’s standard of living and their growing purchasing power, buying a private car is no longer a luxury for many Chinese people, if not most. 

例：The gradual improvement in people’s standard of living enables people to exert greater spending power, which is definitely embodied in their allocation of living expenses----- they have more disposable income that can be spent in having dinners outside or travelling. 

2） 功能提高/质量提高、流行/普及

the huge leap(飞跃) forward in the function and quality of sth.

the popularity(流行) of sth./ the popularization（普及）of sth./ the rapid development of sth

例：The huge leap forward in the function and quality of cars of Chinese brands, coupled with their comparatively lower prices, give them competitive edge over cars of Japanese brands and American brands. 

例：We can ascribe this phenomenon(the boom of online shopping) to the great popularity of smart phones and the rapid advances in information technology revolution, which makes it possible for people to shop more efficiently and conveniently. 

3）竞争/压力

竞争激烈 the increasingly fierce competition(in job market/ in modern society)

压力大 the growing pressure (of modern life)  

例：Increasingly fierce competition(in job market/ in modern society)and growing pressure of modern life should be responsible for such a phenomenon. 

例：The increasingly fierce competition in the job market and the growing pressure of modern life make it necessary for middle-age people to demand higher salaries and benefits from the companies they work for. 

4) 政府支持鼓励 / 缺乏监管 / 相关政策

The governmental support and encouragement for sth.

例：The governmental support and encouragement for the development of cars of Chinese brands are also factors that must be pointed out. 

the lack of governmental supervision and regulation 

例：The lack of governmental supervision and regulation of the intellectual property markets is the main reason why piracy goes rampant. 

独生子女政策的实行：the implementation(实行 n.) of the one-child policy in China for decades

-of the reform and opening-up policy (改革开放)

例：Due to the implementation of the one-child policy in China for decades, there is only one kid in a common family. As a result, the “only child” is often taken as the apple of their parents’ eyes. 

5） 媒体关于…大量的宣传

an enormous amount of exposure(publicity) of /about sth. in mass media

the extensive publicity of sth. in mass media 

例：An enormous amount of exposure about various kinds of so-called superstars in mass media makes those celebrities enjoy great popularity among young people. 

An enormous amount of exposure about various kinds of so-called superstars in mass media -或 makes young people be widely exposed to the pop culture that worships celebrities — whether they’re politicians, athletes, musicians, or actors and actresses.  

个体类：

1) 优缺点

the advantages （或merits 优点）of sth. such as (…的好处，一定要用名词写) 

the disadvantages(demerits) of sth. such as (…不好的地方,一定要用名词写)

若要用句子写优缺点 可以改写为： The advantages （disadvantages）of sth are quite obvious. For example, + 句子描绘优点

例：We can largely ascribe this phenomenon to the advantages brought by online shopping such as convenience, products of low price and so on

例：The disadvantages of living in some rural areas of China such as comparatively poorer education and health care, less job opportunities and isolation from the outside world, are quite obvious. Therefore, it is little wonder that people in growing numbers swarm into cities.  

2）好恶

追求什么：the /sb’s pursuit of …(要加名词)

例：This is also because of senior staff’s pursuit of a stable life 

 例：This is also because of some people’s pursuit of convenience and free online books resources

更多追求的对象：

-better/higher education ( higher academic degrees )

-better personal development

-higher salaries and social status(社会地位)

-products of low prices

-broadening horizons(开拓视野)

例：Some students’ pursuit of broadening their horizons should be responsible for this phenomenon( that more students go to study abroad )

例：Due to many graduates’ pursuit of better personal development, they choose to apply for higher academic degrees after graduation, so as to acquire more knowledge and professional skills before their job hunting.  

强调什么---作为 pursuit 的替换

the emphasis on sth. 强调什么

sb.’s emphasis on sth.

例：This is also because of Chinese people’s emphasis on products of low prices and high qualities 

不喜欢什么：sb’s dislike of sth. /sb.’s distrust of sth. (不信任)/ sb.’s discontent with sth. （不满意）

modern people’s dislike of carrying heavy paper books 请问这是个独立的句子吗？ 

some Chinese people’s dislike of products of Japanese brands 请问这是个独立的句子吗？ 

For many young people, their dislike of carrying heavy physical books is also the reason why e-readers are more favored. 

 For many young people, their dislike of carrying heavy physical books is also the reason why e-readers are more favored. 

3) 意识

关于…意识的觉醒：the awakening of sb.’s awareness of sth.

Sb.’s growing awareness of sth. 

例：We can ascribe this phenomenon to the awakening of senior students’ awareness of accumulating work experience.

例：Thanks to the growing environmental awareness among the public and extensive publicity of “green travel” in mass media, residents in growing numbers find it necessary for them not to drive private cars very often, so as to reduce the greenhouse gas emissions, which could improve the city's air quality.  

缺乏关于…的意识： lack of awareness of sth. (health awareness)

同辈影响（跟风效应）: the influences from sb.’s peers, friends and mass media 

The influences from young people’s peers, friends and mass media also greatly contributes to this phenomenon, by which I mean some people may drive the trend and others just follow. 

4) 对…缺乏理解/引导

the lack of sth. / sb.’ s lack of sth.

例：young people’s lack of a comprehensive understanding of their jobs and the companies they are working for---我不是句子

例：the lack of moral guidance(in loving and respecting elderly people) ---我不是句子

大作文基本框架

例：the lack of proper guidance in students’ career development (职业发展) ---我不是句子

例：Given many young people’s lack of proper guidance in their career and personal development(planning), it is little wonder that a big majority of them give comfort and enjoyment in work priority over self-improvement. 

5) 未能做什么 Failure to do sth. / Sb’s failure to do sth. 未能做…

例：the failure of local governments to provide enough jobs in rural areas ---我不是句子

例：Given the failure of mass media to publicize and popularize those great achievements made by scientists and artists, it is no surprise that they cannot get enough public attention. 

总结

中间段完整练习：
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组合示例：

国内汽车市场份额变化：

Many reasons could account for this phenomenon. To begin with, the huge leap forward in the quality and function of cars of Chinese brands as well as their relatively low prices, I deem, is a factor that must be pointed out. In addition, some people’s dislike of Japanese brands might be a reason why their market share dropped. 

Equally important, cars of American brands are usually fuel consuming and only target a certain group of people, so their market share kept stable 

出国旅游：

In this day and age when a great number of thorough changes have taken place in every aspect of our life, it is no surprise to find more and more people traveling around the world. On the one hand, due to the implementation of reform and opening-up policy as well as the improvement in Chinese people’s living standards, travelling abroad is no longer a luxury for most of Chinese people, if not all. 

On the other hand, the communication revolution and the huge leap forward in modern transportation make it much more convenient for people to get to know foreign countries and to travel abroad. 

城乡人口变化：

Factors that contribute to this phenomenon can be summarized as follows. To begin with, the convenience and advantages of living in cities are quite obvious. In addition, the advance in urbanization and fierce competition in the job market push people living in rural areas to move to cities, with the hope that they can find a decent job there.

Last but not the least, we can also ascribe the phenomenon to the backwardness and limitation of living in rural areas including relatively poor conditions of education and employment.

7：因果链的拓展，以及常用手段

（1）套路因使得某人做某事（或由于套路因，某人做某事）， so as to do sth. / so that sb. can do sth. / As a result, （Therefore,）there is much possibility that sb. will do sth. / It is little wonder that sb. (will) do sth. 

（2）套路因使得某人做某事（或由于套路因，某人做某事）, which is embodied(体现在) in … 

（3）套路因give(s) A competitive edge over B

（4）由于套路因，A is no longer a luxury for …

Sb. prefer A to B / Sb. give A priority over B  / A is more favored 

因果链拓展论证示范：

What has caused these changes? Firstly, the advent of information explosion and an entry of various Apps into everyone’s smartphone have made people increasingly dependent on their phones, which almost turns mobile phones into a basic necessity of modern life.

Secondly, we can also largely ascribe it to the gradual improvement in people’s living standards and growing purchasing power, so mobile phones are no longer a luxury for most of people in developing countries. In addition, the limited population of developed countries which is far less than that of developing countries is a factor that must be pointed out. 
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In this day and age, it is no surprise that more than half of citizens in Beijing tend to choose public transportation or cycling when they go out. Such a phenomenon can be ascribed to the following reasons. Firstly, due to the gradual improvement in people’s standard of living, private cars are no longer a luxury for many Chinese people, if not most. 

However, an increasing number of private cars also lead to many social issues such as traffic jams and air pollution, which in turn makes more and more people prefer to take public transportation or cycling as their commuting options. 

Secondly, Thanks to the growing environmental awareness among the public and extensive publicity of “green travel” in mass media, residents in growing numbers find it necessary for them not to drive private cars very often, so as to reduce the greenhouse gas emissions, which could improve the city's air quality.

手机网购快速发展：

From a social perspective, Rome was not built in a day, so the growing awareness and extensive media publicity about the convenience of online shopping, I imagine, are factors that must be pointed out. In addition, as modern technology is developing rapidly, mobile phones are becoming increasingly “smart", with their functions being much more powerful than before. Accordingly, people can use various Apps in their mobile phones such as Taobao, T-mall, JD and so on, to buy almost anything they want. This is a more convenient and time-saving way of shopping than using a computer.

第三段：发表评论(comments) = 这样的现象有什么好、有什么坏/我们应该怎么做等

第一句：可以肯定一下这个现象存在的合理性。

Taking into account all of these factors, we may reach the conclusion that whatever is true is reasonable, and such a trend is bound to continue in the future. 

【翻译】综上所述，我们可以得出结论：存在即合理，并且这个趋势未来还会继续。

而如果是明显不合理的趋势，我们则可以说“该趋势可以理解但不应被鼓励”：

Taking into account all of these factors, we may reach the conclusion that such a phenomenon is understandable, but should not be encouraged.（but should be addressed immediately） 

第二句：常见套路。

（1）要对事物有一个理性的态度。 

如2015年真题春节人们如何花费，2014年真题城市和农村人口的变化，2013年真题大学生四个年级的兼职情况…

以上这些都可以从要持有一个理性的态度等角度去写。如2013年真题大学生兼职比例过高，你就可以提出让大学

生平衡自己的学业时间和空闲时间，不能把大量时间花在兼职上。

例：However, it is also necessary for college students to take a rational attitude towards doing part-time jobs and strike a balance between doing part-time jobs and study. 

【翻译】但是，大学生也同样需要对兼职工作持理性的态度，在兼职和学习之间找到平衡。

（2）注意…潜在的危险。

没有什么社会趋势是绝对好的，2016年真题大学生旅游，我们就可以提醒大学生要注意旅游潜在的危险，对网络购物或大量使用电子产品等话题来说也一样。

例：However, we should also keep an eye on the potential risks during travelling and make sure personal  and property safety is guaranteed. 

【翻译】但是，我们也要注意旅游时潜在的危险，确保我们的人身和财产安全得到保障。

（3）行业类话题可以强调我们国内的相关行业抓住机遇改善产品和服务。

如2011年真题三个不同国家品牌汽车销量的变化，2010年真题发展中国家与发达国家手机销量的比较。

例：It is high time that domestic manufacturers should seize this opportunity to improve the quality of their products and their services，so as to expand their market shares. 

【翻译】国内厂商需要抓住机遇去改善产品质量和服务。

（4）较为负面的话题可以提出改进建议。

如2012年真题该公司员工工作满意度普遍较低，我们可以提醒公司改善工作环境、提高福利待遇等。

例：It is necessary for this company to take measures to improve its work environment and provide employees with competitive salary and benefits, so as to enhance their job satisfaction.

【翻译】这家公司有必要采取措施去改善员工的工作环境，给员工提供有竞争力的薪资和福利，提高他们的工作满意度。

也可以补充论述意义作用危害！

两点提醒： 

1）多用形主

It is highly recommended that … 高度推荐的是… 

It is of great comfort for us to find that… 我们欣慰地发现…

It is highly time that sb. should do sth.  现在是某人做某事的关键时刻

It is an imperative that sb. should do sth.  某人必须做某事

2）多用被动 

Efforts must be made to do sth.  必须努力去做…

Measures should be adopted to do sth. 必须采取措施去做…

Legislative initiatives should be enforced to do sth. 必须执行立法手段去做…

Sb. should be encouraged to do sth. 某人应该被鼓励去做…

素材库之：提建议措施常用句型公式

sb. should do sth. , so that sb. may/can do sth. 某人需要做某事，为了某人可以做…

Each individual should attach great importance to environmental protection and energy conservation so that we may make the earth a better place for our children. 

keep in mind that （把..放在心上）

We should keep in mind that taking public transport more often or riding bicycles not only strengthen our health, but also make our own contribution to the restoration of the beauty of our planet. 

 behave oneself  （注意自己的行为）

be rational to （对..理性）/ be alert to （对..保持警惕，这2个to 是介词，后面接名词）

think twice before doing sth （三思而后行） 

arm oneself with …（用..来武装自己）

cultivate the spirit of… 培养..的精神

foster sb’s interest(in …)  培养某人(..的)兴趣

harness the power of social media to educate/popularize/ publicize sth. 利用社交媒体的力量来… 

government incentives for sth. play an important role in … 政府在...上的激励对...起到重要作用

